H H 202543 A24A(A)~30A(H)
E= 5 KEXERERET)—F
SMF — L BEZPESKR. REFESK. KRPREKR, LHEAKREZSKR., AAFEEKR
RREEXZEZSR. EEFRAER. EARESK., LEEKR. BRBAHSK
BEER. FBAEE -, BRXEMEXEER. ERFESK. Bk
MENKE BEIEXRE. HEKE., EERFERR, KEXEKE
3H24H(H)
A =—} B =—}
No.| BH&RRK | TO. R vs ] FsRRE | No. [ &M | TO. wE vs oy
1 vs 9:00 1 L izl vs LM
2 L ES R vs %M 10:40 | 2 a2 & i) vs|  {EAREE
3 L X KEXIEA |vs| BEIE 1220 | 3 L i RS vs|  {EARE
4 .......... 7;1, ........... xj{}ﬁmw ...... S %E ............... e ;1 ............................................................. R
5 L X Kig vs| BEIH 15:40 | 5 L B EARE  |vs| KEXIE
6 p2l% =] B vs B 1720 | 6 L 1 BHHB vs B
7 vs 19:20 | 7 vs
XKFEREEINDEHEENHYES,
3H25H (k)
A =—} B =—}
No. | BAR | TO. mE v ) BALEER | No. | BAMR | To. mE v )
1 L " "HE vs i) 830 | 1 L & EARE  |vs £z
2 ) # G vs & 10:10 | 2 ) + THEK  |vs B
3 )L % BHH vs %M 11:50 | 3 ) = EARE |vs $EfH
4 .......... 7;1, ........... x ............ HP%JII ......... e x; ............... e 4 ......... 7 ;1, ﬂrﬁs ......... - :tﬁEljcB .....
5 )L =] LiEh vs =] 1510 | 5 )L * & vs| AKX
6 p2l% i EEIINL vs BX 1650 | 6 L L RiE vs %M
7 )L X KEXIEA |vs Ligh 18:30 | 7 a1 =] S vs =] 3

KFPEFERSNDEESHYES,




] H 202543 H24H(RA)~30H(H)

= % REXERZERET—F

ST — L BEZEER. REZ2ESK. KRARESK., LHEEAKRESK. fLZ2ES%
RREFXERZEZSR. EERAER. EARESK. LEEHK. BEBHEHK
BRER, FHAZE -, BRXEMEXSZER. EHZESK. BESK
MRNKRZBEIRRE URKE ZERERRK. KEXEXRE

3A26B(K)
A 22—} B =—}

No. [ HERK | TO. p: ) vs KB FRSRESRE | No. [ &R | TO. R vs KB
1 )L =| =] 3 vs BH 8:30 1 P2l E S vs R SE
2 .......... 7;|, x;ﬁx;ﬁxﬂ;/\ ..... > x; ............... e 2 ......... 7» ........... i .......... i ﬁax ....... - mﬂﬂﬁ ......
3 L i LiEh vs EES 11:50 | 3 )L % & vs %H
4 L 23 B vs|  BRAXBAN 13:30 | 4 L = BK= vs|  ETHBEKB
5 2% fi3 REX{LB |vs HERR 15:10 | 5 p21% B BE vs THEBEX
| on | % | mmem v e | 1650 |6| ou | k| kRe: ||  mx=

vs 1830 | 7 p2l% =] KRR vs B

KFPEFERSNDEESHYFET

3H27TH(K)
A =—}h B =—}
No.| BH&RRK | TO. R vs wh FRIGERRE | No. | HARK | TO. e vs weE
1 )L B HE vs JekE 9:00 1 P2l E S vs|  BREXBAE
2 )L =] S vs =] 10:40 | 2 )L = & vs|  RIRAR
3 L PN REXIEB |vs| BEEXEA 1220 | 3 L i KEXIEA |vs bR
4 )L 23 KiRep  [vs|  BRARBASN 1400 | 4 P2l - B vs BX=
5 .......... 7;1, ........... **quga ....... S Emg ............... o 5 ......... 7» ........... 1 t .............. 1 t@ .......... - %xz ........

KPEFERSNDEENSHYFET



H H 202543 R24RA(R)~30A(A)
E= % KEXERERET)—F
ST — L BEZPESKR. REFESK. KRPREKR, LHEAKREZSKR., AAFEEKR
RREEXZEZSR. EEFRAER. EARESK., LEEKR. BRBAHSK
BEERK. FHAXZEE-BR. BEXZHEXRESK. ERAZESK. BEaK
MENKRZEBHELERE RRKE BEREER, KEXEKXE
3H28H(&)
A =—} B =—}
No.| BH&RRK | TO. R vs ] FIIREERE | No. [ BHARR | TO wE vs oy
1 )L X KEXIEA |vs| EEBBAM 9:00 1 )L =] JeBE vs B
2 L 23 KiRepR [vs|  BRAREAN 10:40 | 2 a2 x R vs| AKX
3 2% B BX= vs =Lz 1220 | 3 p21% it Ik R vs LiEh
4 .......... 7;1, ........... EEE;Q ....... o Eng ............... e 4 ......... 7 ;1, ........... i ......... x EWEB ..... o i ﬁax ......
5 p2l% it EEINN vs ek 1540 | 5 p2l% s hERE—B |[vs| LHAXB
6 p2l% # EERE |vs Liobi 1720 | 6 L = HEE—B |vs BK=
vs 19:20 vs
3829A (1)
A =—} B =—}
No.| BH&RRK | TO. R vs ] FIIREERE | No. | BA&RR | TO wE vs oy
1 )L it depE vs| AR — 9:00 1 )L PN KEXIEB |vs i
2 I E JeRE vs|  EHZEA 1040 | 2 I + mETE |vs| tTmBEX
3 )L i B vs| EHFEAB 1220 | 3 P2l h BEIE |vs| HEE—
4 .......... 7;1, ........... xjcijum ..... e :tﬁElx ........... e 4 ......... 7 ;1, m m;lgs ......... o q: %%_B .....
5 )L N3 KEXEB |vs| EEZES 1540 | 5 )L LS KEXIEA |vs| HEE—

KFPEFEESNDGEENHYVET




# H 202543R24RA(RA)~30A(A)
= 5 KEXIEXRERET)—F
SMF — L BEZESKR. REFESK. KRPRER. LHEAKREZSR, AAFEEK
RREEXRZEZSK. EERAER. EARESK, LEESK, BRBANSK
BESK. PHAZE-BK. BEXEMERESK, ERZESK. BEaK
AENKEHELERE RRKE, ZERFEER, KERXEKXE
3A30H(H)
A =—} B a—p
No. [ HERK | TO. =B vs wRe FIIBEERE | No. | AWK | TO. = vs W
1 )L X KEXIEB |vs sk 10:00 | 1 a2 H FURKZE  |vs| HERE—
2 N—72 i hERE—B  |vs HHB 11:40 | 2 P2l E FRKE  |vs| EEERS
3 ............................................................... e B B e e R
4 I PN REXEA |vs| BERMEERK | 1400 vs
vs 15:40 vs

KFPEFERSNDGEESHYVES,



